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10. Assessment Focus

‘The Grade 8 students had an

end-of-the-year dance.

‘The disc jockey charged $85 for setting,

up the equipment, plus $2 for cach

student who attended the dance.

The disc jockey was paid $197.

How many students attended the dance?

) Write an equation you can use to
Solve the problem.

b) Solve the equation.

) Check your answer and explain
how you know it is correct.

11. Solve each equation.
Verify your solution.
a) —8x+11=59b) 1lc +21 = =34
Q23=-5b+3 d) ~45=6a—15
@52=25-9 f) —13+4d=31
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12. Solve each equation.
Verify your solution.
A3m+7=8 b)6x+6=15
Q ~23=5p-27d)5p+6=7
€ 8e—9=-3 f) —17+10g





